
Integration 2 

 

1.  Find: 

 (i) ∫(1 − √𝑥)𝑑𝑥  (ii) ∫ √3
𝜋

2
𝜋

6

sin 𝑥 𝑑𝑥  (iii) ∫ −
𝜋

4
0

cos 2𝑥 𝑑𝑥 (iv) ∫ 6𝑒3𝑥+5𝑑𝑥 

 (v) ∫ 𝑥√4 − 2𝑥2𝑑𝑥 (vi) ∫ 𝑥 cos 𝑥 𝑑𝑥 

 

 

2. Evaluate ∫ 𝑠𝑖𝑛2 𝑥 𝑐𝑜𝑠2 𝑥 𝑑𝑥. 

 

 

3. Evaluate ∫ 𝑥2 𝑐𝑜𝑠−1𝑥 𝑑𝑥. 

 

 

4. Find by integration by parts ∫ 𝑥3 𝑒−𝑥2
𝑑𝑥. 

 

5. Evaluate ∫
𝑑𝜃

𝑎2−2𝑎𝑏 cos 𝜃+𝑏2

𝜋

0
 

 

6. Evaluate ∫ cos 2𝑥 cot 2𝑥 d𝑥 

 

7. Evaluate ∫
ln 𝑥

𝑥5 𝑑𝑥 

 

8. Evaluate ∫(3𝑡 + 𝑡2) sin(2𝑡) 𝑑𝑡. 

 

9. Evaluate ∫ 𝑥3 ln 𝑥 𝑑𝑥. 

 

10. Evaluate ∫ t2 ln(1 + t3) 𝑑𝑡. 

 

 


